
ASSEMBLY INSTRUCTION

INcp162_GL

838-047

120MIN

READ AND SAVE THIS INSTRUCTION FOR FUTURE USE



PART
LIST

E  4D  16C 12B  8A  8

K  8

J1 1F  8

J2 2 J3 1 J4 1 J5 1

M15*10 M6*28 M6*12

M4*12M7*30

M3.5*35

M7*48 M6*35

G 6 H 4

M7*38 M6*10

I  1

M3.5*30





Ø

Ø

ØØ

02 03

01

04



Ø

Ø

Ø

05

06

07



Ø

Ø

08

09



Ø

Ø

Ø

11

10



Ø

Ø Ø

12

13



Ø

14

15

ØØ D
on
e




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10

